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a—F g Hik | Bk (kg) %8 (1) =l i 2l PE Hh (BAL)
30100 75V I A 30 1,674 59 59 49 | BH 304
30300 A% 26 3,089 59 59 59 B 5248
31100 H3E 40 4,752 1,188 1,188 1,188 | B 410
31200 [LUEE 297 27 27 27| BN 11#
Y3015 |7 X H 323 22 22 12| BN 1931
31700 F %Y 30 3, 564 1,188 1,188 1,188 BW 31
31700 F vy Y 190 16, 848 1,080 864 648 | B 1947 — X
31800 1EH A 33 9, 688 70 65 43 BN 1653
31950 H#AX 2, 268 108 108 108 | B 214%
31900 ¥ 702 108 108 108 | BN Tkg
36800 Hox x5 26 14, 342 648 594 486 | BN 26kg
34400 k< b 93 23, 004 270 248 238 | BN 93kg
34460 I =L F L 2 1,188 119 119 119 | BN 1078y 7
34270 Xy ¥ —= 10 3, 402 76 76 59 | B 504
35220 EF R ERHE 5 702 216 162 108 | B 5kg
35303 ATV TEZALD 22 4,514 270 216 54| BN 22kg
Y3026 Afy7  EZAE D (FE) 648 432 432 432 B 2kg
Y3115 |EZXAE D 189 162 108 108 | B 2kg
35400 T 5HEH 2, 560 324 324 324 | BN 8kg
Y3037 LT B D 20 648 32 32 32 BN 20kg
36200 EHmE 80 15, 984 248 184 184 BN 80kg
Y3044 |EFECGH) 4 151 38 38 38| BN 4kg
36600 7mFhE 12 778 65 65 65 B 124%
36600 -¥hE 40 5,184 130 130 130 | BH 40kg
33410 Hr=—1LH R 10 1,404 54 22 22| BN 501
33200 AU T T U— 14 3, 737 140 130 130 & 281
Y3030 LA (5) 3,024 1,512 1,512 1,512 | B 2kg
36340 B LRREZE 1,188 238 238 238 | BN 5kg
41806 7= AN 25 540 22 22 22| BN 2548
41806 7= A A 130 26, 471 540 432 356 | | 65% v k
46108 X AEIDNE 60 55, 620 302 292 248 | BN 199/% > 7
21010 K% 5,616 32 27 27| B 19074
71011 A S L —% 5, 238 32 22 16 | B 2104
71032 FS+F (R) 756 54 54 43| BN 157
71080 |7 A Y = 756 38 38 38 BN 204
71150  LiF 2, 646 92 86 86 | BN 305
21302 F—Hr ey T 6, 480 3, 240 3, 240 3,240 | B 28k
53456 T inroiE 2,106 378 378 324 BN 6kg
53101 1T L KR 2,322 1,188 1,188 1,080 BN 2kg
Y3019 HoY 16, 956 2, 160 2,160 2,052 BN 8kg
¥5010 SbR (#) 16 10, 735 864 810 432 | BN 16kg
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A & BREfifk& 52
a—F i Hifk | PR (kg) &% (M) il i Ll PE (BAL)
30100 75V I A 4L 105 4,536 65 65 65 | FEIRE 704
30300 2L 30 5, 292 1,836 1,728 1,728 | BEVE B 3 r—=x |
30300 B 70 3, 024 43 43 13 ERE T0kg
31100 75 5, 292 1,188 1,188 864 | F IR 54— A
33500 1 227 54 54 22 | t& 64
33810 4 1, 404 1, 404 1, 404 1,404 |FEIR 5 17—
33810 4 1,296 65 65 65 | BEIR 204%
37440 2 896 896 896 896 | R 17—
Y3072 R —U—7 3 1,674 65 54 54 | fE 304%
31700 50 4, 860 972 972 756 | BEVE R 5 —A
31900 10 2,187 162 108 59 |EEIR S 2031 (500g)
31930 3 1,296 43 43 43| K5y 3048
32800 2 1,728 864 864 864 | = I 248
32800 5 3,024 65 59 59 | E ik 503K
34300 25 8, 424 1,944 1,728 1, 404 |HEA 54 — R
34460 ji:ki& 12 6, 804 130 97 97 | =R 6057 |
34100 33 14,213 144 108 108 | ‘=I5 12548
34100 | 2L 20 5,832 1,620 1, 404 1,404 IR S 4r—=
34100 L 20 6, 048 1,512 1,512 1,512 | R &5 44—
34500 20 7,128 76 70 70 | = I 10048
34500 10 4,320 43 43 413 ERE 10048
34571 (%) 1 605 76 76 76 | #E[E 8
34572 (#) 1 864 108 108 108 | & [F 81
36200 3L 50 11,016 2,376 2,160 2,160 RS 57—
36300 45 5,152 70 54 54 | H I 9043 |
36600 2L 60 8, 640 3,024 2, 808 2,808 | dbiEiE 3r—A
36600 LK 80 13, 824 3, 456 3, 456, 3, 456 | JbiEE 44—
37200 2L 4 1,728 1,728 1,728 1,728 | HE 14 —2R
33400 18 2, 268 76 76 76 | = I 301
33400 30 4,018 76 65 65| EEIRE 601#
33420 Y=Y —T L H R 3 518 32 32 32 | =ik 164#
33420 U —r Y —T L XX L 3 648 43 43 43 | 1& 151
Y3092 ~LT— Y —7 4 2,160 108 108 108 EERE 204%
33600 1 238 108 32 32 | 1@ 54
33300 Fmyay— 2L 3 826 92 92 92 |REIZ 91
38100 A= Lu7=iF 8 5, 422 76 65 54 | =R 82,3y 7.
31310 8 2, 160 54 54 54 \EEIR B 4048
31500 16 2,160 32 32 22 | EERE 8048
32500 1 216 22 22 22 | t& 1038
37560 1 1, 944 216 216 162 | K4y 1083y 7
38400 5 1, 404 1,404 1, 404 1, 404 | 1% 1r—2=
38400 10 1,728 17 17 17 B 1004%
38521 SR LOUH 6 4,590 108 108 43 | & 604%
41806 2L 10 648 756 324 324 |EIRE 24— A
41410 1 432 43 43 43| 7 AV 101A
41480 5 540 540 540 540 | BE VLB 17 —2
41804 70 540 54 54 54 |REA 1047 — A
46108 I MIEONEE 14 8, 251 194 162 162 | 4873y 7
49100 180 19, 548 1,620 1,188 1,080 |7 4 Y B 154 —X
49300 F 7 4 T — 5 3, 456 3, 456 3, 456 3, 456 | 1& [ 1r—=
&t 2,121 457,143




